Star Public School

Dear Parents'

Today's assignment

Maths - Chapter 4

English - Reading practice

Home assignment

Maths - Learn tables

English - Do reading practice
Edited 12:58 PM v
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The learners will be able to

. learn multiplication facts.
. multiply numbers on a number line.

numbers.

. multiply 3-digit numbers by 1-digit « multiply numbers ending with zero.

numbers.
. solve word problems involving
multiplication.

We Will Learn About

on of 2~digit Number
Number 1-digit Number

cation by Numbers Ending

Let's Tune Up

learn multiplication tables.
multiply 2-digit numbers by 1-digit

Properties of Multiplication
Multiplication on a Number Line
Multiplication of 3- digit Number by
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Colour the correct number of circles that need to be added together to find the given product.

Also, write the repeated addition in the boxes.
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Multiplication

Multiplication means
of things repeatedly W ;
repeated addition. Thg sy.m o.
multiplication. Multiplication 15
easy way to do repea
obtained on multiplying
is called their product.

to ad

ted addition. The answer
two or more numbers

d similar group
hich is also known as Keep in Mind
| %' is used for Repeated additiq,
a short and add the same n“mﬁht

over and over aqgy,
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We can see that there are 3 groups of m
7 honeybees each. ' Match the following.
This can be written using repeated | (@) 5x7 i) 3 timesy
addition as 7 + 7 + 7 = 21. (b 4 x3_ N i) 2times
It can be written as 87 =21 (nithe (0 2x6 & ) S times:
form of multiplication. NG
- (d) 3x4 (V) 4 times)

We can read it as 3 times 7 equals 21.

Properties of Multiplication

» Changing the order of numbers does not affect their product. So, we ¢
multiply numbers in any order, and obtain the same product every time
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There are 5 groups of 3 kittens each.
34+3+3+3+3=15 QI3 = 15
A"/
Number of  Number in P:oduct
groups each group




There are 3 groups of 5 kittens each

B 5 —50r3x5=15
Thus,SX3=3><5=15.
. The product of any number and 1 is the number

tself l The product of two numbers

pramples: 7 x 1= 7.8 =@ sl =2 s always greater than the
numbers unless one of the

- roduct of any number and 0 is always O
hep y : y numbers is 1 or 0.

Examples.4><0 O 0= 0790 Ui= 0

Multiplication Tables

\We have already learnt multiplication tables of 2, 3, 4 and 5. Now let's learn the
multiplication tables of 6, 7, 8, 9 and 10.

}‘ Tick the one that shows repeated addition.
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Multiplication Table of 6

Repeated Addition of Groups of Six \ Read as

‘6onesare6. 6 X1 =6

\6twosare12. | 6D —&1D;
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00. | 6X10=¢

!
(i

lead as ! Written as

| il |




r—-————f'

WW‘H‘l %§7threesare21‘ 7x3=21
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FIE in the blank boxes.
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Mumpltcatlon Table of 8

Repeated Addition of Groups of Eight Read as \ Written as
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~ Fill in the blank boxes.
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Multiplication Table of 9

9 ones are 9, 9x1=0
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° 980 008 '. g fours are 36. gx4=36
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o Observe the number line and fill in the boxes.
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Methods of Multiplication

We can perform multiplication in two ways.

In horizontal multiplication,

write the numbers next to each other with a

multiplication sign in between. The product is also written in the same row.

9 x 4 = 36 is an example.

In vertical multiplication, write the numbers
one below the other with a multiplication
sign before the second number. The product
is written below the second number. Look at

the example given alongside.

T
6 —> first number
X 3 —» second number
1 8 —» product



O rind the product : @ 9x8=(12 (d 10x4-
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Multiplication of 2-digit Number by 1-dig 4
: -digi er
Multiplication of 2-digit Number by 1-digit Num
(Without Carry Over) 4
Let'’s learn how to multiply 2-digit numbers by 1-digit numbers.
Multiply 43 by 2. e
We follow the given steps in horizontal multiplication. (
4(3)x2
Step 1: Multiply the digit at the ones place by 2. =
3x2=6
. Multi ig lace by 2 (4)3x(2
Step 2: Multiply the digit at the tens place by 2. L G
4x2=8
Step 3: Write the digits at their correct places. 43 < 2 =86
Therefore, 43 x 2 = 86.
We follow the given steps in vertical multiplication. a0
Step 1: Multiply the digit at the ones place by 2. 4 ha
BX2=6 o :

Write 6 in the ones column,




—-————————f

0O
step 2 Multiply the digit at the tens place by 2. A ol
P ° < By
Write 8 in the tens column. e
Therefore, 43 X 2 = 86. F__Ei_’fr_,_
Mumplication of 2-digit Number by 1-digit Number
(With Carry Over)
! i by 3.
Let's multiply 28 by i
g CEa @4 3\ NN
step 1 Multiply the digit at the ones place by 3. 2 |\ 8 |
g x 3 =24 > 5' 1@)\
Since 24 is a 2-digit number, write 4 in the ﬂr—ﬁf_f:_
ones column and carry over 2 to the tens column. N
Step 2: Multiply the digit at the tens place by 3. Add the Tie O
carried over number to the result. @\
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3 =6 % N \\_
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Write 8 in the tens column. N AN

Therefore, 28 x 3 = 84.

o Find the product.
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lication by Numbers Ending with Zero
10, 20, 30 and so O are numbers ending with zero. Whe,

rs 10, 20, ber ending with one zero, the product g,
i

Multip

ends with a zero. _
: 6 % 30 = 180

¥
7x10= ‘79
.__M_M\,_\KL ’ .
multiply two numbers such that both are ending with z,

Similarly, when we
nds with two zeros.

the product always €

i

20 x 40 = 800

60 x 10 = bb. 30 x 30 = 900
L A . i

rs ending with zero, ignore the zeros in the numbers and multiy
I]'

While multiplying numbe
| number of zeros in both the numbers and write them to the

them. Then count the tota
right of the result obtained.

G Find the product of given numbers.
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@ 70% 5 =50 (b) 30 x 10 =300 () 5%30=50
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d problems

 the given word problem carefully.

garden there are 9 roses in each row. If there w10

)5 TOWS of roses in the garden, how many roses G 4

there in the garden? 505

Sbec of ToW> = 25 < 9
22 5

s in one row = 9
e = O XY = s N ==

re there in the garden.

nber of r0s€

a1 number of ro

erefore, 225 roses a

he given word problems.
¢ 7 such sets of

solve t
(a) There ar€ 15 crayons in a set of crayons. If Hina bough

how many crayons does she have in all?

crayons,
H 3‘!' O
Number of crayons in one set | 5
Number of sets % =1
Total number of crayons B =

Hina has| | 05 crayons in 7 S€ts of crayons.
lbum, 20 pictures can be pasted.

s 15 picture albums. In eacha
5 albums?

(b) Amandeep ha
Amandeep paste in these 1

How many pictures can

H T O
Number of pictures in each album 5
Number of albums X S B
T
Total number of pictures O~
___-___,_____f—-——-————"'
T

Amandeep can paste 2o O | pictures in 15 albums. _
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ored: Critical and logical thinking, Brainstorming, Evaluation, Observation

e Apply Your Learning S

';_Moheria' goes to a candy shop where she gets to see a lot of candies. Look at these jars
of different type of candies.
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(@) What is the total number of ; jars? 1j o T = | 20
i = 2P ~ O
~ (b) What is the total number of , jars? 7 - Ta-r
- ) A, D SV
e = .
(c) What is the total number of jars? | ‘? x| 5‘ = 50 /

(d) Each jar costs Z 50. If she buys two jars of each type, what amount will she pay?

___.*‘y — /s 2 2

«d: Observation, Critical and logical thinking, Evaluation, Brainstorming
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ers using the given number line.
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